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Q1. The makers of a new chemical fertilizer claim that hay yields will average (.4 tons more per acre if its
fertilizer is used than if the leading brand is used. The agricultural testing service was retained to test this
claim. A random sample of 52 acre-sized pots was selected, and the new fertilizer was applied. A second
sample of 40 acre-sized plots was selected, but leading fertilizer was used. The following sample data (in
tons per cares) were observed.

Current Leading brand New Product
X, =4.310ns /acre X 5 =5.2tons lacre
S, =0.8tons S, =0.7tons
Then using & =0.05 . The hypotheses are:
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1. The test statistic value:

= K- -de (52— 43)-M 33523
T y X 8) (=« ‘ }s
j#-2 d5eg ®r
~ 3.”’,

2. Decision Rule:
Using the critical value approach ’z-'o(/z = X025 =96
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Q2. Given the following null and alternative hypotheses:
H,:P—P,<0 VS H,;:P - P, >0, ifn =60,x,=30, n, =80,x , =24 _ if the test statistic value
is 2.41 calculate the P-value and determine whether the null hypothesis would be rejected?
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